SH: Bha0iPA
M 2as MEZ B4 U AL (STHLLN/SY - =)
e = 3T |4 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
S 2,279,159 746,922 1,632,237
= 659,500
== 1,619,659
S5 AES |4 & AFPNL(sHHLb/s - SE) 1,966,826 457,998 1,508,828
[ 659,500
= 1,307,326
S|+ 35 |4 954,388 211,109 743,279
= 371,000
=S 583,388
S FEAEL 153,363 163,087 276
101 @124H| 101,253 9,977 2,276
M ORMZZE2NSES 101,253 98,977 2,276
OXEFOIF 2IAH & HERE=S S 101,253
201 eer23| 18,700 18,700
01 AtR2t2|HI 6,700 6,700
OMNFESFY, 78R =8 S 6,700
02 s3=gHl 12,000 12,000 0
OA&EHIS X 5,000
(CJul=d:] 2,000
Oxtg= Al 5,000
202 04dl 8,410 8,410
01 2L A 8,410 8,410
O+ 538 YR 7,476
O=22 =U0dl 934
207 ARl 10,000 12,000 A2,000
03 Alg 71| 10,000 12,000 /2,000
Obdlz, <%, s S 10,000
310 =2/01& 15,000 15,000
01 =23 &0IH 15,000 15,000
O oll2l MU= & B4 Al 15,000
S el S3A 59,025 58,022 1,003
101 21A4H| 44,550 43,547 1,003
04 JIZtN2Z2 XS 2+ 44,550 43,547 1,003
ORIOIF oIl & HERE= S 44,550
202 04| 561 561
01 =LHO LI 561 561
OME=A 2 HREO 561
207 ARl 13,914 13,914
03 Alg 3 -2HI 13,914 13,914
Otlz, =%, sAHM 714
(©mlIE==2= 3,000
OAlF & =X+ 10,200
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SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
N =AqARI|BE DESH(S+4)(212) 742,000 0 742,000
= 371,000
== 371,000
401 AlZHIZ S 0HbI 742,000 0 742,000
= 371,000
< 371,000
01 A28l 731,600 0 731,600
OXNSsgARIe NEeHS+4) 731,600
[ 365,800
= 365,800
02 2l 10,000 0 10,000
OXNSsLARI|E DB S44) 10,000
= 5,000
s 5,000
03 A2 THYI 400 0 400
ONSsgARIE NEeHS+4) 400
s 200
= 200
S THHHE e 627,200 51,304 575,8%6
= 288,500
= 338,700
S HEHAR 50,200 51,304 21,104
101 @124H| 49,600 48,484 1,116
M ORIMZZ2NSE S 49,600 48,484 1,116
OEFOIF 0I2H X HERE=S S 49,600
202 04l 600 720 A0
01 =LHOHI 600 720 A120
OAE=N 2 HRHO 600
244 AHIEW 483 J=(=21) 307,000 0 307,000
[ 153,500
= 153,500
101 e124d| 233,040 0 233,040
s 116,520
= 116,520
M ORINZZ2NSE S 233,040 0 233,040
OXEFIZ 196,911
= 98,456
== 98,455
OEERE=S S 36,129
[ 18,064
= 18,065
201 2gr=3| 6,460 0 6,460
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s 3,230
= 3,230
01 Ar2eltl 6,460 6,460
oget=2Hl S 6,460
= 3,230
= 3,230
202 04d| 9,000 9,000
s 4,500
& 4,500
01 =WOdHI 9,000 9,000
OAIEHTAIE HR2FX 9,000
s 4,500
& 4,500
207 A IHLH| 58,500 58,500
= 29,250
= 29,250
03 AlE A 2| 58,500 58,500
OEIHl ¥ HIZ(108) 14,000
as 7,000
& 7,000
OMEM & HM=M(BS) 5,250
s 2,625
& 2,625
o= & 24X (58) 5,250
= 2,625
= 2,625
OZNE A L 0HHM4S) 34,000
s 17,000
& 17,000
S NEIPDIR AT L Ardsi(=1) 270,000 270,000
s 135,000
& 135,000
101 eI t| 207,146 207,146
= 103,573
= 103,573
M IIRINZ2Z2sEs 207,146 207,146
(OESgelEs 175,032
s 87,516
= 87,516
OHYERYEZ S 32,114
s 16,057
& 16,057
201 2| 3,454 3,454
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ZE: S44 UBE S8 Y ATHS(SYHYN/SY - 5E)
el 2= MY oA (Cre|: & 2)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
s 1,727
= 1,727
01 Ar2eltl 3,454 0 3,454
oget=2Hl S 3,454
= 1,727
= 1,727
202 04d| 3,200 0 3,200
s 1,600
& 1,600
01 =WOdHI 3,200 0 3,200
OAIEHTAIE HR2FX 3,200
s 1,600
& 1,600
207 A IHLH| 20,200 0 20,200
= 10,100
= 10,100
03 AlE A 2| 20,200 0 20,200
OEIHl ¥ HIZ(558) 5,000
as 2,500
& 2,500
O=Z2XM(108) 2,700
s 1,350
& 1,350
OENE Al L XHH(5S) 12,500
= 6,250
= 6,250
307 gI2Hol ™ 36,000 0 36,000
s 18,000
& 18,000
02 QIRHEAAIEE X 36,000 0 36,000
OXtM=o 88 OIFE Jlsd 2ta g 18,000
s 9,000
& 9,000
o=2== Jlsd a¥=E HSH Heg 18,000
s 9,000
= 9,000
S SAHAA 107,000 127,010 A20,010
S HHE SXHAA 107,000 127,010 A20,010
101 @124 89,847 108,718 A18,871
M IIRHMZ2Z2XSE+ 89,847 108,718 A 18,871
OZEQIS Q12| U HHRLD S 89,847
202 04d 6,432 6,432 0

- 1128 -




SH: Bha0iPA
M 2as MEE B4 U AL (STHLLN/SY - =)
el S STl (SH9 M)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
01 =LHAHI 6,432 6,432 0
O HHE SAL HRFA 6,432
207 A0 10,721 11,860 21,139
03 AlZ =4I 10,721 11,860 AT1,139
o2& Skl U=z S 10,721
A B2 278,238 68,575 209,663
EAAE 2E2t 278,238 68,575 209,663
201 =3 62,038 60,575 1,463
01 A2t 1,463 0 1,463
OurtNEE ¢ 1,463
ootz 83
Oetd gt 1,380
02 2324l 60,575 60,575 0
ozE2= & HA 33,500
OAEZ IS X 12,350
OXE =Rl 2 6,650
OFA & FEHEAE A= 8,075
401 AlEHIZ 01| 215,000 8,000 207,000
01 AlIZHI 212,000 8,000 204,000
O+ A A S L B=IA 212,000
02 Zcldl 3,000 0 3,000
SapPh A S Y EaBA 3,000
405 KHAHF SH 1,200 1,200
01 TR ESF SHI 1,200 1,200
OKAH AtCHel 1,200
HH2ALH(SH7A) (OIEHIIE} 312,333 288,924 23,409
eI 2 290,438 267,419 23,019
S AEHA 290,438 267,419 23,019
101 e124d| 261,175 240,483 20,692
03 SRA(RIAH) 222 261,175 240,483 20,692
OAIHARE 261,175
oJlzs 2,458,180 «6E « 12 176,989
ogz2+¢ 1,603, 1662 *50%+0 ZH +22] 9,619
OAIt2 22+
13,7902 +6 B *15A| 2+x 122 +150% 22,340
Odxtrasz =g
13,7933 x0H * 13 +BAl 2+ 8,607
Og &SIl
2,458, 3332 22| «60%+6H 17,700
Ogaldl 140,000& 62~ 123 10,080
OunsHl 100,000& 62~ 123 7,200
OJE=g 5,040
-BH <Xt 40,0002 *32* 122 1,440
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